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SM-4C ;
Ser-7" WA E NELRR 1 m
SM-4C ;
er-7" Vi AR P ECRR 86 m
SM-4C ;
S p AR YAt 1 1l
8C ;
Seh=7" VR SR BERE 2 £
577" LAF
Heh=7" Mm R SRR 1 J51A]
20CLLF
TEARE R 11 m
628 ;
I AR P A B 87 m
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Vol =
FER N E
TH4 | EhE 1 5 8 ZR sl s LF (HILHX)
TEHEX Sy - THE - R B {7 ¥ = & # il pall 2! iR
FEP40 ;
SJEBAT & S ERRE R 1 m
#30 ;
7T VR ) AR 1 (eS|
300X 300 300 SUS ;
¥y p-EUt 1 1=
L=150 SUS ;
P 8=097" (BPEFD 72) 2 1A
G28H SUS ;
B & 8 7E 4 B (MRt #4) 12 &l
G28H ;
Bl EE 7 BBk 72) 12 &l
G28/H ;
BhiKa=tvhy 7 Voo (4D ) 2 i
#30H ;
BhkazAvi yratyh Bk #) 2 =
#30H ;
EVIVIZESSVANCZY SIS 2 1]
G28/H ;
PR E T = 1 8,541 |PEHMERE 1 i
DREREH |
e+ T 2 1 842,388 |PRIE Y 1 X
HEL 1 2V
R 3 m3
SRR G 8 m
As t=50 ;
SRR G 4 m
As t=40 ;
T LE RS A 18 m2
As t=50 ;
EhAE AR AR 1 m2
As t=40 ;
BT 18 m?2
RC-40 t=100 ;
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il
W
>
%
I

THE4 | EhE 1 5 8 SA@EERrs A T (RHHX)

= S N O A | B Az ¥ = & F #m il N BN
I 0.9 m?2
FAEBRIEETAT7VMES Y (13) t=50 ;
I 0.1 m?2
FABRIEETAT7VMES Y (13) =40 ;
SRR AR — N 31 m
W=150 2fZ3r 0
SRR AR — N 8 m
W=300 2{Zr 0 ;
JHE Vg LT 1 pre
Tl FEIARG - TR LA 1 P
¥ RSy 1 =
BOEMRAL Sy 1 F2V
As ;
VATMIT) V=yay = 1 222,030
YATMYT) Vv=yay = 1 222,030 |YAFMYF) V=yay 1 =
T 358 ik T Y 1 66, 500
ik T =Y 1 66, 500 | #@k (FEA) 1 =
*}%%DD
T = 1 35, 370
B EHT 2 1 35,370 | A EFHEENE 1 F2V
[ERE ALy = 1 2,289, 826
HiE 2 1 732, 000
B (FEHL) = 1 732, 000
L = 1 3,021, 826
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R PERE
THE4 | EE 1 5 8 SAmEMrik A T (FLILHX)
THEXSy - THE - FE5 H7 & & # i Gl 2 N
e R 2V 2, 110, 000
HeaR Mty X 3, 305, 000
Boitr & bt 2V 501, 000
ReanE me 2V 2, 804, 000
(L5 5 2V 8, 436, 826
T AT X 9, 040, 826
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